

SUM FORMULAS FOR DOUBLE POLYLOGARITHMS OF HURWITZ TYPE AND SOME APPLICATIONS

HIROFUMI TSUMURA

1. INTRODUCTION

In this note, we introduce sum formulas for double polylogarithms of Hurwitz type including well-known sum formulas for double zeta values. Also we give certain weighted sum formulas for double polylogarithms, further for double L -values. Moreover we give certain sum formulas for partial double zeta values attached to congruent conditions.

For the details in this note, see the joint-papers: Matsumoto-Tsumura [8] and Essouabri-Matsumoto-Tsumura [3].

2. VARIOUS SUM FORMULAS FOR DOUBLE ZETA VALUES

We recall various sum formulas for the double zeta value $\zeta(p, q) = \sum_{m>n\geq 1} \frac{1}{m^p n^q}$:

Sum formula for double zeta values For $l \geq 3$,

$$\sum_{j=2}^{l-1} \zeta(j, l-j) = \zeta(l).$$

Gangl-Kaneko-Zagier [4] For $N \geq 2$,

$$\sum_{\nu=1}^{N-1} \zeta(2\nu, 2N-2\nu) = \frac{3}{4}\zeta(2N); \quad \sum_{\nu=1}^{N-1} \zeta(2\nu+1, 2N-2\nu-1) = \frac{1}{4}\zeta(2N).$$

Ohno-Zudilin [10] For $l \geq 3$,

$$\sum_{\nu=2}^{l-1} 2^\nu \zeta(\nu, l-\nu) = (l+1)\zeta(l).$$

This was extended to the relevant result for multiple zeta values by **Guo and Xie** [5].

Nakamura [9] For $N \geq 2$ and $M \geq 4$,

$$\sum_{\nu=1}^{N-1} (4^\nu + 4^{N-\nu}) \zeta(2\nu, 2N-2\nu) = \left(N + \frac{4}{3} + \frac{2}{3}4^{N-1}\right) \zeta(2N);$$
$$\sum_{\nu=2}^{M-2} (2\nu-1)(2M-2\nu-1)\zeta(2\nu, 2M-2\nu) = \frac{3}{4}(M-3)\zeta(2M).$$

Based on these facts, we aim to prove sum formulas for double polylogarithms of Hurwitz type as follows.

Theorem 2.1 ([8]). *For $k \in \mathbb{N}$, $x \in \mathbb{C}$ with $|x| \leq 1$ and $b \in (0, 1]$,*

$$\begin{aligned}
& \cos(b\pi) \left\{ \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^n}{m(m+n+b)^{k+1}} - \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^{m+n}}{m(m+n+b)^{k+1}} + \sum_{\nu=2}^{k+1} \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^n}{(n+b)^{k+2-\nu}(m+n+b)^\nu} \right. \\
& \quad \left. - \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^{m+n}}{(n+b)(m+n+b)^{k+1}} + \sum_{\substack{m > b \\ n \geq 0}} \frac{x^n}{(m-b)(m+n)^{k+1}} + \sum_{\nu=2}^{k+1} \sum_{\substack{m > b \\ n \geq 0}} \frac{x^n}{(n+b)^{k+2-\nu}(m+n)^\nu} \right\} \\
& - \frac{\sin(b\pi)}{\pi} \left\{ \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^n}{m(m+n+b)^{k+2}} - \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^{m+n}}{m(m+n+b)^{k+2}} + \sum_{\nu=1}^k \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^n}{(n+b)^\nu(m+n+b)^{k+3-\nu}} \right. \\
& \quad \left. - \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^{m+n}}{(n+b)(m+n+b)^{k+2}} - \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^{m+n}}{(n+b)^2(m+n+b)^{k+1}} - \sum_{\substack{m > b \\ n \geq 0}} \frac{x^n}{(m-b)^2(m+n)^{k+1}} \right. \\
& \quad \left. - k \sum_{\substack{m > b \\ n \geq 0}} \frac{x^n}{(m-b)(m+n)^{k+2}} - \sum_{\nu=1}^k \nu \sum_{\substack{m > b \\ n \geq 0}} \frac{x^n}{(n+b)^{k+1-\nu}(m+n)^{\nu+2}} \right\} \\
& = \pi \sin(b\pi) \sum_{n=0}^{\infty} \frac{x^n}{(n+b)^{k+1}} + 2 \cos(b\pi) \sum_{n=0}^{\infty} \frac{x^n}{(n+b)^{k+2}} - \frac{2 \sin(b\pi)}{\pi} \sum_{n=0}^{\infty} \frac{x^n}{(n+b)^{k+3}}. \quad (\star)
\end{aligned}$$

Note that the case $(b, x) = (1, 1)$ implies the ordinary sum formula.

Corollary 2.2 ([3]). *For $k \in \mathbb{N}$ and $x \in \mathbb{C}$ with $|x| \leq 1$,*

$$\sum_{\substack{m \geq 1 \\ n \geq 1}} \frac{x^n}{m(m+n)^{k+1}} - \sum_{\substack{m \geq 1 \\ n \geq 1}} \frac{x^{m+n}}{m(m+n)^{k+1}} + \sum_{\nu=2}^{k+1} \sum_{\substack{m \geq 1 \\ n \geq 1}} \frac{x^n}{n^{k+2-\nu}(m+n)^\nu} = \text{Li}(k+2; x),$$

where $\text{Li}(s; x) = \sum_{n \geq 1} x^n n^{-s}$. Furthermore, for a primitive Dirichlet character χ ,

$$\sum_{\nu=2}^{k+1} L_{\mathbb{W}}(\nu, k+2-\nu; \chi_0, \chi) + L_{\mathbb{W}}(k+1, 1; \chi, \chi_0) - L_*(k+1, 1; \chi, \chi_0) = L(k+2; \chi),$$

where χ_0 is the trivial character, $L(s, \chi) := \sum_{m \geq 1} \chi(m) m^{-s}$ is the Dirichlet L -series and

$$\begin{aligned}
L_*(s_1, s_2; \psi_1, \psi_2) & := \sum_{m_1 > m_2 \geq 1} \frac{\psi_1(m_1) \psi_2(m_2)}{m_1^{s_1} m_2^{s_2}} = \sum_{\substack{m \geq 1 \\ n \geq 1}} \frac{\psi_2(m) \psi_1(m+n)}{m^{s_2} (m+n)^{s_1}}, \\
L_{\mathbb{W}}(s_1, s_2; \psi_1, \psi_2) & := \sum_{m_1 > m_2 \geq 1} \frac{\psi_1(m_1 - m_2) \psi_2(m_2)}{m_1^{s_1} m_2^{s_2}} = \sum_{\substack{m \geq 1 \\ n \geq 1}} \frac{\psi_2(m) \psi_1(n)}{m^{s_2} (m+n)^{s_1}}
\end{aligned}$$

are double L -series first studied in Arakawa-Kaneko [2].

Theorem 1 holds as a *functional relation* among holomorphic functions for $b \in D_\varepsilon(1)$, where we fix a sufficiently small $\varepsilon > 0$ and let

$$D_\varepsilon(1) = \{b \in \mathbb{C} \mid |b - 1| < \varepsilon\}.$$

By differentiating Theorem 1 in b and $b \rightarrow 1$, we obtain

Corollary 2.3. For $k \in \mathbb{N}$ and $x \in \mathbb{C}$ with $|x| \leq 1$,

$$\begin{aligned} & \sum_{\nu=2}^{k+1} \nu \sum_{\substack{m \geq 1 \\ n \geq 1}} \frac{x^n}{n^{k+2-\nu}(m+n)^{\nu+1}} + (k+1) \sum_{\substack{m \geq 1 \\ n \geq 1}} \frac{x^n}{m(m+n)^{k+2}} \\ & + \sum_{\substack{m \geq 1 \\ n \geq 1}} \frac{x^n}{m^2(m+n)^{k+1}} - \sum_{\substack{m \geq 1 \\ n \geq 1}} \frac{x^{m+n}}{m^2(m+n)^{k+1}} = \sum_{n=1}^{\infty} \frac{x^n}{n^{k+3}}. \end{aligned}$$

Corollary 2.4. For $k \in \mathbb{N}$ and a primitive Dirichlet character χ ,

$$\begin{aligned} & \sum_{\nu=2}^{k+1} \nu L_{\mathbb{W}}(\nu+1, k+2-\nu; \chi_0, \chi) + (k+1)L_{\mathbb{W}}(k+2, 1; \chi, \chi_0) \\ & + L_{\mathbb{W}}(k+1, 2; \chi, \chi_0) - L_*(k+1, 2; \chi, \chi_0) = L(k+3; \chi). \end{aligned}$$

In particular,

$$\sum_{\nu=2}^k \nu \zeta(\nu+1, k+2-\nu) + 2(k+1)\zeta(k+2, 1) = \zeta(k+3). \quad (*)$$

Note that (*) can also be derived from the result of Arakawa-Kaneko multiple zeta-function in [1] as follows.

Arakawa-Kaneko multiple zeta-function

$$\xi(k_1, \dots, k_r; s) = \frac{1}{\Gamma(s)} \int_0^\infty \frac{t^{s-1}}{e^t - 1} \cdot \text{Li}_{k_1, \dots, k_r}(1 - e^{-t}) dt,$$

where

$$\text{Li}_{k_1, \dots, k_r}(z) = \sum_{0 < m_1 < \dots < m_r} \frac{z^{m_r}}{m_1^{k_1} \dots m_r^{k_r}} \quad (k_1, \dots, k_r \in \mathbb{N}).$$

Indeed Arakawa-Kaneko showed that

$$\begin{aligned} \xi(2; k+1) &= -\zeta(k+1, 2) - (k+1)\zeta(k+2, 1) + \zeta(2)\zeta(k+1); \\ \xi(2; k+1) &= \sum_{\nu=1}^{k+1} \nu \zeta(\nu+1, k+2-\nu). \end{aligned}$$

Combining these results, we obtain (*).

Remark 2.5. Arakawa-Kaneko essentially gave general form of relation formulas including (*) for ‘multiple zeta values’, by using the analytic property of their ξ -function and the duality of MZVs.

By differentiating Theorem 1 in b one more time, we can obtain

$$\begin{aligned} & \sum_{\nu=3}^k \frac{\nu(\nu-1)}{2} \zeta(\nu+1, k+3-\nu) + \frac{(k+1)(k+2)}{2} \zeta(k+2, 2) \\ & + (k+1)(k+2) \zeta(k+3, 1) = \zeta(k+4) \quad (k \geq 3), \end{aligned}$$

which is given from their result on $\xi(1, 2; k+1)$.

3. SKETCH OF THE PROOF OF THEOREM 2.1

First we prepare the following functional relation.

Theorem 3.1. For $b \in \mathbb{R}$ with $0 < b \leq 1$, $x \in \mathbb{C}$ with $|x| \leq 1$ and $s \in \mathbb{C}$ with $\Re s \geq 1$,

$$\begin{aligned} & \cos(b\pi) \left\{ \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^n}{m(n+b)^s(m+n+b)} - \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^{m+n}}{m(n+b)(m+n+b)^s} \right. \\ & \quad \left. + \sum_{\substack{m > b \\ n \geq 0}} \frac{x^n}{(m-b)(n+b)^s(m+n)} \right\} \\ & - \frac{\sin(b\pi)}{\pi} \left\{ \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^n}{m(n+b)^s(m+n+b)^2} - \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^{m+n}}{m(n+b)^2(m+n+b)^s} \right. \\ & \quad \left. + \sum_{\substack{m > b \\ n \geq 0}} \frac{x^n}{(m-b)^2(n+b)^s(m+n)} \right\} \\ & = \pi \sin(b\pi) \sum_{n \geq 0} \frac{x^n}{(n+b)^{s+1}} - 2 \cos(b\pi) \sum_{n \geq 0} \frac{x^n}{(n+b)^{s+2}} + \frac{\sin(b\pi)}{\pi} \sum_{n \geq 0} \frac{x^n}{(n+b)^{s+3}}. \quad (3.1) \end{aligned}$$

Proof. Assume $\Re s > 1$. By

$$\lim_{M \rightarrow \infty} \sum_{m=1}^M \frac{(-1)^m \sin(m\theta)}{m} = -\frac{\theta}{2} \quad (\theta \in (-\pi, \pi)),$$

we have

$$2i \left(\lim_{M \rightarrow \infty} \sum_{m=1}^M \frac{(-1)^m \sin(m\theta)}{m} + \frac{\theta}{2} \right) \sum_{n \geq 0} \frac{(-1)^n x^n e^{i(n+b)\theta}}{(n+b)^s} = 0.$$

Hence we see that

$$\begin{aligned} & \lim_{M \rightarrow \infty} \sum_{m=1}^M \sum_{n \geq 0} \frac{(-1)^{m+n} x^n e^{i(m+n+b)\theta}}{m(n+b)^s} - \lim_{M \rightarrow \infty} \sum_{m=1}^M \sum_{\substack{n \geq 0 \\ m \neq n+b}} \frac{(-1)^{m+n} x^n e^{i(-m+n+b)\theta}}{m(n+b)^s} \\ & + i\theta \sum_{n \geq 0} \frac{(-1)^n x^n e^{in\theta}}{(n+b)^s} = \begin{cases} -\sum_{n \geq 0} \frac{x^n}{(n+1)^{s+1}} & (b=1) \\ 0 & (b \neq 1), \end{cases} \quad (**) \end{aligned}$$

where the change of order of summation is possible (see [6]). Denote the left-hand side by $J(\theta)$ and the right-hand side by C_0 , respectively.

Multiply by $(i/2\pi)\theta$ on the both sides and consider the integration

$$\frac{i}{2\pi} \int_{-\pi}^{\pi} \theta J(\theta) d\theta = \frac{iC_0}{2\pi} \int_{-\pi}^{\pi} \theta d\theta = 0.$$

This gives that

$$\begin{aligned} & \cos(b\pi) \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^n}{m(n+b)^s(m+n+b)} - \frac{\sin(b\pi)}{\pi} \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^n}{m(n+b)^s(m+n+b)^2} \\ & - \cos(b\pi) \sum_{\substack{m \geq 1 \\ n \geq 0 \\ m \neq n+b}} \frac{x^n}{m(n+b)^s(m+n+b)} + \frac{\sin(b\pi)}{\pi} \sum_{\substack{m \geq 1 \\ n \geq 0 \\ m \neq n+b}} \frac{x^n}{m(n+b)^s(m+n+b)^2} \\ & - \pi \sin(b\pi) \sum_{n \geq 0} \frac{x^n}{(n+b)^{s+1}} - 2 \cos(b\pi) \sum_{n \geq 0} \frac{x^n}{(n+b)^{s+2}} \\ & + \frac{\sin(b\pi)}{\pi} \sum_{n \geq 0} \frac{x^n}{(n+b)^{s+3}} = 0, \end{aligned}$$

which further converges absolutely for $\Re s \geq 1$. This completes the proof. \square

Sketch of the proof of Theorem 2.1. Letting $s = k \in \mathbb{N}$ in (3.1) and using repeatedly the partial fraction decomposition

$$\frac{1}{XY} = \left(\frac{1}{X} + \frac{1}{Y} \right) \frac{1}{X+Y}.$$

Then former three terms in the parentheses on the left-hand side of (3.1) is

$$\begin{aligned} & \sum_{\nu=2}^{k+1} \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^n}{(n+b)^{k+2-\nu}(m+n+b)^\nu} + \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^n}{m(m+n+b)^{k+1}} \\ & - \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^n}{(n+b)(m+n+b)^{k+1}} - \sum_{\substack{m \geq 1 \\ n \geq 0}} \frac{x^n}{m(m+n+b)^{k+1}} \\ & + \sum_{\nu=2}^{k+1} \sum_{\substack{m > b \\ n \geq 0}} \frac{x^n}{(n+b)^{k+2-\nu}(m+n)^\nu} + \sum_{\substack{m > b \\ n \geq 0}} \frac{x^n}{(m-b)(m+n)^{k+1}}. \end{aligned} \tag{3.2}$$

We can similarly decompose the other terms, so we obtain Theorem 2.1. \square

Fix $k \in \mathbb{N}$, $x \in \mathbb{C}$ with $|x| \geq 1$, assume $0 < b < 1$, and differentiate the both sides of (\star) in Theorem 2.1 with respect to b .

It should be noted that on the left-hand side of (\star) in Theorem 2.1,

$$\sum_{\substack{m > b \\ n \geq 0}} \frac{x^n}{(m-b)(m+n)^{k+2}} = \frac{1}{x(1-b)} Li(k+2; x) + \sum_{\substack{m \geq 2 \\ n \geq 0}} \frac{x^n}{(m-b)(m+n)^{k+2}},$$

$$\sum_{\substack{m>b \\ n \geq 0}} \frac{x^n}{(m-b)^2(m+n)^{k+1}} = \frac{1}{x(1-b)^2} Li(k+1; x) + \sum_{\substack{m \geq 2 \\ n \geq 0}} \frac{x^n}{(m-b)^2(m+n)^{k+1}},$$

$$\sum_{\substack{m>b \\ n \geq 0}} \frac{x^n}{(m-b)(m+n)^{k+2}} = \frac{1}{x(1-b)} Li(k+2; x) + \sum_{\substack{m \geq 2 \\ n \geq 0}} \frac{x^n}{(m-b)(m+n)^{k+2}}$$

are not continuous at $b = 1$. Hence we consider $g(b) = g_k(b; x)$ defined by

$$g(b) = \frac{\cos(b\pi)}{x(1-b)} Li(k+1; x) + \frac{\sin(b\pi)}{\pi x(1-b)^2} Li(k+1; x) + \frac{k \sin(b\pi)}{\pi x(1-b)} Li(k+2; x).$$

Let $k \in \mathbb{N}$ and $x \in \mathbb{C}$ with $|x| \leq 1$. Then we can easily check that $g(b) = g_k(b; x)$ is holomorphic for $b \in D_\varepsilon(1) = \{b \in \mathbb{C} \mid |b-1| < \varepsilon\}$ and satisfies

$$g(1) = \frac{k}{x} Li(k+2; x), \quad g'(1) = -\frac{\pi^2}{3x} Li(k+1; x), \quad g''(1) = -\frac{k\pi^2}{3x} Li(k+2; x).$$

Namely (\star) holds as a functional relation among holomorphic functions for $b \in D_\varepsilon(1)$.

Therefore we can differentiate the both sides of (\star) in Theorem 2.1 with respect to b , and can prove Corollaries 2.3 and 2.4.

4. SUM FORMULAS ATTACHED TO CONGRUENT CONDITIONS

Theorem 4.1. *Let N be odd positive. For $k \in \mathbb{N}$ and $x \in \mathbb{C}$ with $|x| \leq 1$,*

$$\begin{aligned} & \sum_{\nu=1}^k \left\{ \sum_{\substack{m, n \geq 1 \\ m \equiv n \pmod{N}}} \frac{x^n}{n^\nu(m+n)^{k+2-\nu}} \right\} + \sum_{\substack{m, n \geq 1 \\ m \equiv n \pmod{N}}} \frac{x^n}{m(m+n)^{k+1}} \\ & + \sum_{\nu=1}^k \left\{ \sum_{\substack{m, n \geq 1 \\ m \equiv -2n \pmod{N}}} \frac{x^n}{n^\nu(m+n)^{k+2-\nu}} \right\} + \sum_{\substack{m, n \geq 1 \\ m \equiv -2n \pmod{N}}} \frac{x^n}{m(m+n)^{k+1}} \\ & - \sum_{\substack{m, n \geq 1 \\ m \equiv -2n \pmod{N}}} \frac{x^{m+n}}{m(m+n)^{k+1}} - \sum_{\substack{m, n \geq 1 \\ m \equiv -2n \pmod{N}}} \frac{x^{m+n}}{n(m+n)^{k+1}} \\ & = \frac{2}{N^{k+2}} Li(k+2; x^N) + \frac{\pi}{N} \sum_{\substack{m=1 \\ N \nmid m}}^{\infty} \frac{x^m}{\sin(2m\pi/N)m^{k+1}}. \end{aligned}$$

Note that the case $N = 1$ and $x = 1$ implies the ordinary sum formulas.

In the case $N = 3$ and $x = 1$, we see that $m \equiv -2n \pmod{3}$ implies $m \equiv n \pmod{3}$. Let $\chi_3(m) = (2/\sqrt{3}) \sin(2m\pi/3)$ be the quadratic character of conductor 3. Then we have the following.

Corollary 4.2. *For $k \in \mathbb{N}$,*

$$\sum_{\nu=1}^k \left\{ \sum_{\substack{m, n \geq 1 \\ m \equiv n \pmod{3}}} \frac{1}{n^\nu(m+n)^{k+2-\nu}} \right\} = \frac{1}{3^{k+2}} \zeta(k+2) + \frac{\pi}{3\sqrt{3}} L(k+1; \chi_3).$$

In particular when $k = 1$,

$$\sum_{\substack{m,n \geq 1 \\ m \equiv n \pmod{3}}} \frac{1}{n(m+n)^2} = \frac{1}{27} \zeta(3) + \frac{\pi}{3\sqrt{3}} L(2; \chi_3).$$

Sketch of the proof of Theorem 4.1. Similarly to Theorem 3.1, we obtain

$$\begin{aligned} & \sum_{\substack{m,n \geq 1 \\ m \equiv n \pmod{N}}} \frac{x^n}{mn^s(m+n)} + \sum_{\substack{m,n \geq 1 \\ m \equiv -2n \pmod{N}}} \frac{x^n}{mn^s(m+n)} - \sum_{\substack{m,n \geq 1 \\ m \equiv -2n \pmod{N}}} \frac{x^{m+n}}{mn(m+n)^s} \\ &= \frac{2}{N^{s+2}} Li(s+2; x^N) + \frac{\pi}{N} \sum_{\substack{m=1 \\ N \nmid m}}^{\infty} \frac{x^m}{\sin(2m\pi/N) m^{s+1}} \end{aligned} \quad (**)$$

for $s \in \mathbb{C}$ with $\Re s \geq 1$, by letting $b = 1$, $\eta = e^{2\pi i/N}$ for an odd positive integer N , $x = \eta^{-2a}$ in (**) and using

$$\sum_{a=0}^{N-1} a \rho^{-an} = \begin{cases} \frac{N(N-1)}{2} & (N \mid n) \\ \frac{N}{\rho^{-n}-1} & (N \nmid n). \end{cases}$$

where $\rho = \eta, \eta^2$. Then, setting $s = k \in \mathbb{N}$ in (**) and using the partial fraction decomposition, we obtain the proof. \square

5. THE CASE OF A GENERAL DEPTH

First we consider the triple L -values.

Theorem 5.1 ([3]). *For $K \in \mathbb{N}$ with $K > 3$ and a Dirichlet character χ ,*

$$\begin{aligned} & \sum_{\substack{k_1, k_2 \geq 1, k_3 \geq 2 \\ k_1 + k_2 + k_3 = K}} \left\{ \sum_{m_1, m_2, m_3 \in \mathbb{N}} \frac{\chi(m_1)}{m_1^{k_1} (m_1 + m_2)^{k_2} (m_1 + m_2 + m_3)^{k_3}} \right\} \\ &+ \sum_{\substack{k_2 \geq 1, k_3 \geq 2 \\ k_2 + k_3 = K-1}} \left\{ \sum_{m_1, m_2, m_3 \in \mathbb{N}} \frac{\chi(m_2) - \chi(m_1 + m_2)}{m_1 (m_1 + m_2)^{k_2} (m_1 + m_2 + m_3)^{k_3}} \right\} \\ &+ \sum_{m_1, m_2, m_3 \in \mathbb{N}} \frac{\chi(m_3) - \chi(m_1 + m_3) - \chi(m_2 + m_3) + \chi(m_1 + m_2 + m_3)}{m_1 (m_1 + m_2) (m_1 + m_2 + m_3)^{K-2}} \\ &= \sum_{m=1}^{\infty} \frac{\chi(m)}{m^K}. \end{aligned}$$

Note that when $\chi = \chi_0$, we obtain the ordinary *sum formula* for triple zeta values. The method of this proof is essentially the same as in the case of double series, though the calculation is much harder.

From the double and triple cases, we expect the following result.

Conjecture 5.2 ([3]). For $r \in \mathbb{N}$ and $K \in \mathbb{N}$ with $K > r$,

$$\begin{aligned}
& \sum_{\substack{k_1, \dots, k_{r-1} \geq 1, k_r \geq 2 \\ k_1 + \dots + k_r = K}} \left\{ \sum_{m_1, m_2, \dots, m_r \in \mathbb{N}} \frac{\chi(m_1)}{m_1^{k_1} (m_1 + m_2)^{k_2} (m_1 + m_2 + m_3)^{k_3} \cdots (\sum_{j=1}^r m_j)^{k_r}} \right\} \\
& + \sum_{\substack{k_2, \dots, k_{r-1} \geq 1, k_r \geq 2 \\ k_2 + \dots + k_r = K-1}} \left\{ \sum_{m_1, m_2, \dots, m_r \in \mathbb{N}} \frac{\chi(m_2) - \chi(m_1 + m_2)}{m_1 (m_1 + m_2)^{k_2} (m_1 + m_2 + m_3)^{k_3} \cdots (\sum_{j=1}^r m_j)^{k_r}} \right\} \\
& + \sum_{\substack{k_3, \dots, k_{r-1} \geq 1, k_r \geq 2 \\ k_3 + \dots + k_r = K-2}} \left\{ \sum_{m_1, m_2, \dots, m_r \in \mathbb{N}} \frac{\chi(m_3) - \chi(m_1 + m_3) - \chi(m_2 + m_3) + \chi(m_1 + m_2 + m_3)}{m_1 (m_1 + m_2) (m_1 + m_2 + m_3)^{k_3} \cdots (\sum_{j=1}^r m_j)^{k_r}} \right\} \\
& + \cdots \\
& + \sum_{m_1, m_2, \dots, m_r \in \mathbb{N}} \frac{\chi(m_r) - \sum_{j < r} \chi(m_j + m_r) + \sum_{j_1 < j_2 < \dots < j_{r-1} < r} \chi(m_{j_1} + m_{j_2} + \dots + m_{j_{r-1}} + m_r) - \cdots}{m_1 (m_1 + m_2) (m_1 + m_2 + m_3) \cdots (\sum_{j=1}^{r-1} m_j) (\sum_{j=1}^r m_j)^{K-r+1}} \\
& = \sum_{m=1}^{\infty} \frac{\chi(m)}{m^K}.
\end{aligned}$$

For example, the case $K = r+1$ (hence the only possible choice is $(k_1, k_2, \dots, k_{r-1}, k_r) = (1, 1, \dots, 1, 2)$) implies that

$$\begin{aligned}
& \sum_{m_1, m_2, \dots, m_r \in \mathbb{N}} \frac{\sum_{j=1}^r \chi(m_j) - \sum_{j_1 < j_2} \chi(m_{j_1} + m_{j_2}) + \cdots + (-1)^{r-1} \chi(\sum_{j=1}^r m_j)}{m_1 (m_1 + m_2) (m_1 + m_2 + m_3) \cdots (\sum_{j=1}^{r-1} m_j) (\sum_{j=1}^r m_j)^2} \\
& = \sum_{m=1}^{\infty} \frac{\chi(m)}{m^{r+1}}.
\end{aligned}$$

In particular when $\chi = \chi_0$, this coincides with the well-known formula

$$\zeta(2, 1, 1, \dots, 1) = \zeta(r+1).$$

6. CONCLUSION REMARKS

At the end of this note, we list several remarks as follows:

- (1) Can the result for double L -values in Corollary 2.4 be given from the property of Arakawa-Kaneko ξ - L -function?
- (2) Are there certain connections between our results for multiple L -values and the cyclic sum formulas for multiple L -values? Indeed, can Conjecture 5.2 be given from the cyclic sum formulas for multiple L -values?

Acknowledgements. The author deeply appreciate the organizers, Dc. Tatsushi Tanaka, Noriko Wakabayashi, Kohtaro Imatomi and also the support members for their courteous work of management of this workshop.

REFERENCES

- [1] T. Arakawa and M. Kaneko, Multiple zeta values, poly-Bernoulli numbers, and related zeta functions, Nagoya Math. J. **153** (1999), 189–209.
- [2] T. Arakawa and M. Kaneko, On multiple L -values. J. Math. Soc. Japan **56** (2004), 967–991.
- [3] D. Essouabri, K. Matsumoto and H. Tsumura, Multiple zeta-functions associated with linear recurrence sequences and the vectorial sum formula, Canad. J. Math., to appear; published electronically on December 29, 2010, doi:10.4153.
- [4] H. Gangl, M. Kaneko and D. Zagier, Double zeta values and modular forms, in ‘Automorphic forms and zeta functions’, 71–106, World Sci. Publ., Hackensack, NJ, 2006.
- [5] L. Guo and B. Xie, Weighted sum formula for multiple zeta values, J. Number Theory **129** (2009), 2747–2765.
- [6] K. Matsumoto and H. Tsumura, A new method of producing functional relations among multiple zeta-functions, Quart. J. Math. (Oxford) **59** (2008), 55–83.
- [7] K. Matsumoto and H. Tsumura, Functional relations among certain double polylogarithms and their character analogues, Šiauliai Math. Semin. **3** (11) (2008), 189–205.
- [8] K. Matsumoto and H. Tsumura, Sum formulas for double polylogarithms of Hurwitz type and some applications, preprint.
- [9] T. Nakamura, Restricted and weighted sum formulas for double zeta values of even weight, Šiauliai Math. Semin. 4(12) (2009), 151–155.
- [10] Y. Ohno and W. Zudilin, Zeta stars, Commun. Number Theory Phys. **2** (2008), 325–347.

H. TSUMURA DEPARTMENT OF MATHEMATICS AND INFORMATION SCIENCES, TOKYO METROPOLITAN UNIVERSITY, 1-1, MINAMI-OHSAWA, HACHIOJI, TOKYO 192-0397 JAPAN
E-mail address: tsumura@tmu.ac.jp